Paper: B.E_B.Tech
Set Name: |Item25
Exam Date: | 29 July 2022
Exam Shift: | 1
Langauge: |Marathi
Topic: Mathematics-Section A
Item No: 1
Question ID: | 100201
Question
Type: MCQ
ovest RZ{1,23,...,60) H=HdE" A= Harqdd STHR TH Fa¢ 375,
uestion:
R={(a, b) : b=pq, e §& 37" p, q = 3 T R Hfi@ == de&n
A: 600
B: 660
C: 540
D: 720
Topic: Mathematics-Section A
Item No: 2
Question ID: 100202
Question Type: | MCQ

Question: SR z=2+3i, W z° + (E)5 =
A: 244

B: 224

C: 245

D: 265

Topic: Mathematics-Section A

Item No: 3

Question ID: [100203

Question

Type: McQ




Question: | FHS A 3 B &1 3 x 3 <A1 YA ARId TREA Ad 9 AB & ¥ ARU 31, T
A: AX =0 F1 TrF FHROT=A Jorredien ThHHd 3@ 3Rk,
B: AX =0 a1 6T GHIHTOTAT JUTTEHen 377q &g Sshail 3ATed.
C: B &1 =raam ARl .
D: adj(A) & =T ARUA TR,
Topic: Mathematics-Section A
Item No: 4
Question
D: 100204
Question
Type: MCQ

L 1 +..+ 1 =1 , TWa = FHAT I
Question: (20 —a)(40 —a) (40 —a)(60 —a) (180 —a)(200 —a) 256

R,
A: 198
B: 202
C: 212
D: 218
Topic: Mathematics-Section A
Item No: 5
Question ID: | 100205
Question
Type: MCQ
X iZm. s
Question: | W Jjm X TBE T FYSIMX 2 8 e R @Ee T9 R SHe 2
x—0 X 5]'112 x 3

A: o +B2+vy2=6
B: o +By+vya+1=0
C: ap?+By2+yaZ+3=0




Topic: Mathematics-Section A
Item No: 6
Question ID: 100206

Question Type: | MCQ

1

2
Question: dx Il W aﬁa-{ a:“%"
g 3 + 2 sinx + cosx
A: tan—1(2)
B: tan"1(2) - Z
4
1
c: —tan"'(2) - =
2 3
D: 1
2
Topic: Mathematics-Section A
Item No: 7
Question
D- 100207
Question
Type: MCQ
A (1 = ezx)[ﬂ +y) = 171 foreneseh GHIeRIOMET 363 h v =1y(x). [0, %} IEESRISIGEE IEAKE
Question: dx
lim e'y(x) =
x—yo0
A: E
4
B: 3w




C: E
2
D: 3_11.
2
Topic: Mathematics-Section A
Item No: 8
Question
D- 100208
Question
Type: MCQ
4 . .
ST L& W by +10y—8=0%2x—3y=0, be R - {5} e B feigga S sSRY L& (1, 1)
Question: 2 2
1 feigqa ST 21T 17(22 +y2) = 16 1 adere w9 FHlq a8e ® ok i—z = 171 e Sehga
7D,
2
A: o
J5
B: E
5
1
C: —
NG
D: E
B
Topic: Mathematics-Section A
Item No: 9
Question
D- 100209
Question MCQ

Type:




ST A(—1, 4, 3) TG P : 2x + my + nz = 4, TR TS SaraT T [_2, 7 E) MR A
Question: 2 2

fig= 3, —1, —4 foF qoR 5o W= fe¥ Aee P ydemyTe 3.
A: 1
B: J26
C: 242
D: J14
Topic: Mathematics-Section A
Item No: 10
Question
D: 100210
Question
Type: MCQ

— A A — A A A — — = = — =

WS a =3i+ jab=1i+2j+ k. TN aRT ¢ & ax(ch)=b+)\c 2l 212 qof

Question:
= = .

FEL S b 9 ¢ HIR THA@ | A = 9 IeF .
A: -5
B: 5
C: 1
D: -1
Topic: Mathematics-Section A
Item No: 11
Question
D: 100211
Question
Type: MCQ

Teh A= el sToedl A fagus A= RE=n 390 $F o 3R 9 A =0 u=da 9 TR
Question:

sTarer s/ B feigurge feraw=n soa & cos_l[%} R, SR B faga AR @ 15 Tk
YT T cot o =




W[ | Wk (GO ||

Topic:

Mathematics-Section A

Item No:

12

Question ID:

100212

Question Type: | MCQ

Question: (p Aq) = (p A T) T faum IECIEIEL A e,
A q=(pAr)
B: p=>(pAar)
c: PArr)=(pPArqg
D: pArq) =1
Topic: Mathematics-Section A
Iltem No: 13
Question | 490213
Questi
T;pees: ion MCQ
Question: P(1,1) % A(a, 3), B(b, 5) 9C(a, b), ab > 0 ferifsig sreom=n freprom= aftshs e, S 11 AP € 1w BC
| @ Qky, k) foigd wEd ode Wk, + k, SR AR
A: 2
B: E
7




C: g

7
D: 4
Topic: Mathematics-Section A
Item No: 14
Question
D- 100214
Question
Type: MCQ

AA : T (A f'\) (A A (A A))
Question: I |aab%é‘ﬁI|5|5E|Iii|%f!|5llfi|5laﬁqza‘7ﬂ%.m a+bl 3 a+2b+2\ax b/
HieeAHt® ®HH 0 78S T 164 cos?0 o HTA 3.

A 90 + 27+/2
B: 45 + 182
c: 90 + 32
D: 54 + 902
Topic: Mathematics-Section A
Item No: 15

Question ID: 100215

Question Type: | MCQ

Question: LS f(o:) = I M dt,.- a>0, T f(e3) +.f(e_3)
1 1+t

A: 9
B: 2

>

9

C: TP e—

log. (10)

9

D:

2 log.(10)




Topic: Mathematics-Section A
Item No: 16
Question ID: 100216
Question Type: | MCQ
Question: {(:\: y): |x_1|5y¢_;ﬁ,‘5_x2] TN TeITE &S 3Te
A: E =l [E) o l
2 5 2

B: 5_11- — E

4 2
C: 3_11- + E

4 2
D: 5_11- —_ l

4 2
Topic: Mathematics-Section A
Item No: 17
Question
D- 100217
Question
Type: MCQ

P : y?=4dx o= S L y=mx +c¢, m > 0 1 e 3747 sra&el M a N foga 35d. WL &@
Question: | H : x?—y? =4 STqrr=l WY €. SK O 7 =& P =1 fRifeig ofe. 9 F, &1 oo H =t o x-
sarEde A e T = OMFEN o &5%e3 3.

A 2.6
B: 2+/14
c: 14J6
D: 4+/14
Topic: Mathematics-Section A

Item No:

18




Question

D- 100218
Question
Type: MCQ
f:R—=R,
Question: | f(x)=|x—1|cos|x—2| sin|x—1| + (x —3)|x% —5x + 4| ¥ % 7 feigenftan forpera At sron fag=h
& TR,
A: 1
B: 2
C: 3
D: 4
Topic: Mathematics-Section A
Item No: 19
Question
D- 100219
Question
Type: MCQ
| "SI S=1{1,2,3,..,2022} S HE1qd Aefwd dgdd Faged n He 59w 1ALfa. (n, 2022)=1
Question: ;
STHUATH HATSTa TR
A 128
1011
B: 166
1011
c. 127
337
D 112
337
Topic: Mathematics-Section A
Iltem No: 20
Question ID: 100220

Question Type: | MCQ




F(1)=307"2°+4 y ¢ R T Wefeia FR faum T o2
P:x=0 7 {1 ®nfeh SeeH foig o1,

Question:
Q: x =2 7 f=n Afqufiedy f6g 1.
R:fT x> 2 TSt AR FO .

A: 6 P 2t Q
B: T® P AT R
C: T Q AT R
D: Td P, Q amfor R
Topic: Mathematics-Section B
Item No: 21
Question
D- 100221
?ues.tion Numeric Answer

ype:
Question: | TN S=1{0 € (0, 2m) : 7 cos?0 — 3 sin’0 —2 cos?28 =2} T 12— 2 (tan’0 + cot?0)x + 6 sin%0 =0,

| 0 eS T Td T SHSH S .

Topic: Mathematics-Section B
Item No: 22
Ql.festion 100222
ID:
?ues.tion Numeric Answer

ype:
Questi X1, Xoy + -+ Xpg A1 20 HEAE WEA F TR0 SFTFA 159 9 ARA. S e R FA (x; +a)?, (4 @),

uestion: . .

e v (2 )2 T HET 178 AR T o =1 HeAiterh fefwredi=n o o,

Topic: Mathematics-Section B
Item No: 23
QL{estion 100223
ID:
Question

Type:

Numeric Answer




TS a, —4a, — 7 2 fa& TORR 3190 113, —1,2b e b, a, — 2 B fo ol 7o 1o &id

. x+1 —2 z ; ;
Question: | &g, ST — i g 77 & 30 x — y + 2= 0 € FqA A=A BT 4G (o, B, y) FWAR
a a“ —

o+ P +y TR L.
Topic: Mathematics-Section B
Iltem No: 24
Question ID: | 100224
Question .
Type: Numeric Answer

— a
Question: | THST a,, a,, ay, . .. & U 4 oM. SR ) —L =4, T 4a, TR TR,
r=1 2
Topic: Mathematics-Section B
Item No: 25
Question | 400225
Question .
Type: Numeric Answer
1 n

A [%/E-i— %} 71 fgug faanrdtel gEaTdiehgd Hietele qr=d 98 9 Yagd Hisielel 9= 9 Fi
Question: 1 o

TUTH, 7 = ATecd = e 4 . 1 3. S YEardiehgd Hisielel Hard Ug 7 Y T o TR

e,

Topic: Mathematics-Section B
Iltem No: 26
Ql{estion 100226
ID:
Question .
Type: Numeric Answer
Question: 3 x 3 wifeen e HRoar sar=At el 0 féen 1 o1 enfor wren w4 Fid= ofS ve den aw. e
Topic: Mathematics-Section B
Item No: 27
Question 100227

ID:




Question

Numeric Answer

Type:
THS p d p+2 91 Hes H&AT 379
pb e+ D (p+ 2
= [ f f
Question: A=|p+ 1! (p+2)! (p+ 3)
p+2)! (p+3)! (p+ 4)
T S0 B = TS Hear= S, S A p® A (p+2)P T A = g e,
IR,
Topic: Mathematics-Section B
Item No: 28
Question ID: | 100228
Question .
Type: Numeric Answer
L + = + L +...+ : =k;ﬂ‘{34k€ftl\@
Question: 2x3x4 3x4x5 4x5x6 100 x 101 x 102 101
e,
Topic: Mathematics-Section B
Item No: 29
Question
D- 100229
Question .
Type: Numeric Answer
Question qusit S=§4, 6, 9} anfor T= {9, 10, 11, ..., 1000} SR A={a;+a,+..+a, : ke N, a;, a,, a,, ...,
uestion: ; .
a, €S} W T—A 7 Heuraefiel Ta weeni= s s e,
Topic: Mathematics-Section B
Item No: 30
Question ID: | 100230
?ues.tion Numeric Answer
ype:
Question: SR ¢y A2+ y?—2x— 6y +a=0 g y=x+1 WHei wiqmr
' Cy : 532 + 5y + 10gx + 10fiy + 38 =0 3TR. S 1 ¥l ¢, TN Aoar=l 1 378 W a+ 612 =
Topic: Physics-Section A

Item No:

31




Question

D- 100231
Question
Type: MCQ

Question:

@reAl g fagr f&eh amed. T faum™ (A) @ SR BRI (R) 39 Halgel 38,
faem (A) saregT ddral |Alerhlel TR AUTaR 3deigy TS, SR Sdrdl O ‘pf 3 @

Sardht Frewn ¢ M W T =K P% Rrdrafen e s, R9r K o Frd
S/2

+Tel.

BRI (R) : iR faeeiwur aras, Soran ot Y, SrerTaretrean P aed s, o
o

el fagmiiguld, el fieien R wER <) s

A (A) T (R) 3 &XT 3med 9 (R) © (A) T ANY TR 3T
B: (A) 9 (R) a1 @1 3Med 9T (R) & (A) o AT TYECIBRIT .
c. (A) @R 3112 97 (R) Wi .
D: (A) @IE 38 TUT (R) TR AT,
Topic: | Physics-Section A
ltem No: | 32
Queston | 10073,
coosion: | g oM@ AN TR Pl A% A h SARIA drEal. o d % SR SRIAT AR T @
| e e o Sher.
o2
J2 +1
. V3 -2

V3 +42




o v3-1

Y3+ 1
D: l

3
Topic: Physics-Section A
Iltem No: 33
Question ID: 100233
Question Type: | MCQ
Question: ?T% : J_ \?ﬂ'l%' (dl] %

: t=+Jx+ 4 o - oY :
di Jpey

A: 4
B: EI"’?J
C: 8
D: 16
Topic: Physics-Section A
Iltem No: 34
Question | 100234
Question
Type: MCQ

Question:

U] IJBTbR O Erad, Yo I Far fifd are (Sl &l). m TEGAMET Uh b
7 FHdraR v =T IR SR, Wreilerte BIoTr aeb, P Sreesarar faerel Ty ufifhardes

ge1 (N) 9 Slbodrdl ared (v) Fial Hey argadi?




A:
V
N
B:
V
N
C:
v
N
D:
v
Topic: Physics-Section A
Iltem No: 35
Ql.festion 100235
ID:
Question
Type: MCQ
E TRt Suil si¥fetell U dg, RIirarawiarel 60° &9 &% Uaifid berl 3. el Sguma
Question:
Soa figaw @1 I TRk S Bl
A: R




B: E
2
C: E
4
D: E
Topic: Physics-Section A
Item No: 36
Question | 400236
Questi
T;pees 1on MCQ
1kg 9 3 kg TEIAMTT A a&[d I AlGL FHH ?+2? + kT -3 —2}\' T
Question:
A PN M
A i +2§ +k
P PN P
B — 31 =2y k
A A
c —2i + 2k
P8 P M
D: =21 — § +2k
Topic: Physics-Section A
Item No: 37
Questi
Do 1100237
Questi
T;pees on MCQ
Grefl & fagr faell smed. v fAum (A) 9 T SR (R) 3 Haleel 3iTe.
s (A) dotrd fhar Ara ST 3rdclel HUS UUTM W8 Bl Ydhd 6K,
Question:
BRI (R) : FHRU TA AT I TAT QIOAERER STl WP [Teade o,
el Rgridey, @l fSeen i =R S3 faen.
A (A) 9 (R) 3 TR 3T 9 (R) ¥ (A) T UMY FTCDHRT 3T,




B: (A) 9 (R) G781 WX ATed 90T (R) B (A) o AFY FEEIBRT .
c: (A) "X 3 U7 (R) EIC 2.
D: (A) @re amg o7 (R) WY 3ATe.
Topic: Physics-Section A
Item No: 38
Questi
Dot | 100238
Questi
T;Jpees ion MCQ
Question: THl TR i gUe wen 9 Froar = (ardh) wen wien Hdfta geuen @) ar=r gertE
A GLIEENIEY
B: Goariredl e 8 Uc diea
1
C: —
goarirar qeAredl o 9e T AR
D: Goari=al eardl 4 Ue diea
Topic: Physics-Section A
ltem No: |39
Questi
Do 1100239
Questi
T;Jpees 1on MCQ
Questi dreTedl SUIREA L <idie |iel didgd SHielell 88, 2 a8 o 31 HIAred] SNvifaRar Sfd
uestion:
YdAEo @lell Sl 318, TR TabrEl e Pl 3.
A: 2m/L/ (g cosa)
B: 2m,/L/ (g sina)
C: 2w J/L/g
D: 2m/L/ (g tana)




Topic:

Physics-Section A

Type:

Iltem No: 40
Questi
ID‘feS 0N 1100240
Questi
T;Jpees: on MCQ
THT MATHR FAHd IR fJaRomer, R g9a9
3 T
o) = po[z - EJ r < R 9Tt
RISl r > REret
Question: | AT S&etd, fAY r(r < R) & ‘O’ RTURITY 3fdR 318 (SMMpia r@fdeamyHm). P figadie faga
a3 3.
A T [E _ LJ
dey \4 R
5 T [E _ LJ
3gg \ 4 R
c T [1 _ LJ
4 ED R
o T [1 _ 1)
5 ED R
Topic: Physics-Section A
Iltem No: 41
%feS“O” 100241
Question MCQ




grell |9 fage el smed.
e 1: YA$ s 3 9 yS9rTade faga e Rex 3.

Question: | faema I1: YWIRT dEdhreA] Jbad dERiel [dEd &3, qEhredl JSourT=al Ydd figy Tawy
3 .

qRIel fagriRigwld, @il faoieur Wi R_RaR SR fas
A faur 1 9 faum 11 398 TRIeR amed .
B: faer= 1 9 fum= 11 S8 96 amed.
c: faem 1 a_1ER 3 qur fawms 11 g% e
D: faems 1 g% 3mme gur f4ems 11 SRR 37,
Topic: Physics-Section A
Item No: 42
Questi
Dot 100242
Questi
T;pees on MCQ
5 YIgeT, ThaaH il srfeian g9 dRT TheR Sireviid Sireeiedl 3ifed. W] A1 ARiEl @b

tion:
e IIPH oy T 0, A TR, I FAFEI TROFT qrEhar 3TE.

A: —Ul 42

U’l + D'2
B: 20’1 ]

C‘Fl + [}'2
c. 01 - v 09

2[}'1 0'2
D: 01 < v 09

F: o

Topic: Physics-Section A

Item No:

43




Question

D- 100243
Question
Type: MCQ

V2 4y URT SRTered U IRYAT E =440 sin 100wt T THa 9o sRaerell yeamast &R

Question: i

Slrectell affe. I} I1 URUAR gadmEdl Sfier Slieell O) [Mee drE 3,
A: 44 A
B: 1.55 A
C: 22 A
D: 311 A
Topic: Physics-Section A
ltem No: |44
Question 1100244
_]Q_;pees:tion MCQ
100 Q 1 g 1 H IRRAT 3reiel U Fodd 6 V 4| sl 318, el (PB1al)
(@ orE e Rer Rerdidiel wmen o gaiensh ferel de.
sueston (b) URUY A FAFIR 15 ms SUTH HSARN Galtd gadrd & Arsderetl .
(feeter 3 : In2=0.693 @ e—3/2=0.25)
A: t=10 ms; U=2 m]J
B: t=10 ms; U=1 m]
C: t=7ms; U=1m]
D: t=7ms; U=2 m]
Topic: Physics-Section A
ltem No: 45

Question ID: 100245

Question Type: | MCQ




TSy - [ SRIER A1G) - 11 o
A& - 1 &Y - 11
| (a) Sigemara feRor (i) <MWeTieT SUARIG U

e (b) &—fHV (i) UTOU Fglp Ol

(c) g&% =T (iii) AR, TSR

(d) SR TR (iv) gerareal feaqmd geedl GURuATEe!
A (a)~(ii), (b)-(ii), (c)-(1), (d)-(iv)
B: (a)-(ii), (b)-(i), (c)-(iii), (d)-(iv)
C: (a)-(ii), (b)-(iv), (c)-(iii), (d)-()
D: (a)-(iii), (b)-(1), (0)-(i), (d)-(iv)
Topic: | Physics-Section A
ltem No: | 46
Question | ycq

Siedl STl YBTRITE TRAHal A 318, deal gelagi-al el SHoll E 3R, R I Yo 2E Tde

Question:

qredrId 3R, A% JMUT YRl axIreriar SRATIAT &l
A: hC
EXN — he
B. hch
EN + he
C: hA
EN + he
D hch

EX — he




Topic:

Physics-Section A

Item No: 47

Qlfestion 100247

ID:

1Q_;Jpees:tlon MCQ
BRIGIST SV geidelael HPhHIMHS TUR Fleied] Bl Holid (i) fada srgsna Sl

Question: | qrTAIREA UfdedT U ST (i) S ST UTdeRET Ulecdl 3T Urdarid, iR
Phlel

A: 5

B: 443

C: 1:4

D: 4:1

Topic: Physics-Section A

Item No: 48

Question 1 409248

_?;pe;tlon MCQ

Question: THT AW AMRART TRAMET AMIRAAAD FTeT WA F6ad 8 V. 3ME W HEeW /M 9 V
3.

A: 0.8

B: 0.5

C: 0.2

D: 0.1

Topic: Physics-Section A

Item No: 49

auestion 1 100249

Question MCQ

Type:




THT T Geaadad geg Fofier ufd HASMeRar 20 fasmem (W) oRgA @fer Sofar g

Question: | 50 faWT (W) oM. SR 25 @R SHidRIel MR ¥ed, 24 &7 AUiaRIe WRTgdd!] oe I
HeAceid g AT 3R,
A: 0.001 cm
B: 0.002 mm
C: 0.002 cm
D: 0.005 cm
Topic: Physics-Section A
Iltem No: 50
Question ID: | 100250
Question MCQ
Type:
TP YA 0%, TRG1 A ATSUAT] GARTG Wieitel fARIeror Aigfaell el
P 1]
=g
Question:
(A) TS quf gUEHe ¥ I 40ER 0.5 mm Sl
(B) aT@dR AUiEaR THU 9T =50.
(C) = &g 9/ 2.5 mm 378,
(D) sreare (fra) XWar Ide@rdR 407 45 9 R (Vr) ame.
(E) 1gATEl %07 3 0.03 mm 377E.
X IRET & .
A: 2.92 mm
B: 2.54 mm
C: 2.98 mm




D: 3.45 mm
Topic: Physics-Section B
Item No: 51
Question
D: 100251
Question .
Type: Numeric Answer
R I u Tl U aX] 0 DI a9 Y&IUT Pbeil, Yaraal e 31 i ferforaaiay geed
5 (R) He<H 3fTg. Y&TUT iy 3ET 37 ol ey Jeoil R #WewH e, 319 U ax] a9
uestion:
gatia et forar fefer i) Yoot SriaNal Yoodredl 74l o8, STRH df Qe UcAed AR
. e gEY I Yarua el dedl Y&l hiAr oo 3.
Topic: Physics-Section B
Item No: 52
Question
ID: 100252
Que§tion Numeric Answer
Type:
YodIed] YSUNTIRET h SeasTel fig @™ Srg¥detel Jo@ @RI, JST=al JSSHRTURET oh
WAlaR AT e @RI 3TE.
Question: | (h << R,)
o I fhad .
(R,=6400 km dTIRT)
Topic: Physics-Section B
Item No: 53
Qgestion 100253
ID:
Que§tion Numeric Answer
Type:
f§—s19e argan <™ P, 9 =9al d, Rex veidl fbdd sEmeunl P, 9 d, Tael §&erd, [ = g]
Question: | P,(>P,) drgd dqIUATd dred  Arfo1 smefiear qroAT=I=AT yec BId.

(Rrerer amy 92 _ 37)
dq




Topic: Physics-Section B
Item No: 54
Qlfestion 100254
ID:
Ques.tion Numeric Answer
Type:

T IU[H argEl b Hied, fg—aes argean A wie SRR ffa berr. frsomdr Rer srerumma

. [12 .

Question: | YuqRy faf¥me ST TR J/mol K 3¢, TR o I fhHa 3.

(Assume that the given diatomic gas has no vibrational mode).
Topic: Physics-Section B
Item No: 55
Question ID: 100255
Question Type: | Numeric Answer

feetear R kY gt A 3.
9 () 9Q 9 ()
Question: M M M
IA
| |
I 1
6V

Topic: Physics-Section B
Item No: 56
Question | 490256
Question ,
Type: Numeric Answer

5 H P v g eiteidl ag@eiR $oat 37.68 X104 T Uae JADBIY &F Wl HEehIaR
Question: | TR &R, U Foerrilad YR A 3TE.

[ f&o1 3me — Jeiogidr | 100 3T ST w=3.14 ]
Topic: Physics-Section B




Item No: 57
Question
D: 100257
Ques.tion Numeric Answer
Type:
41 991 <lad=ar g YTl Yedlh] YSemaR e eidid. Fsemar A foigquell i yaveriay
Question: ) ) )
Mg 9 B fiqaxy = ame. fog A anfor foig B axier g <rerddiel B I 3.
Topic: Physics-Section B
Item No: |58
Question
D: 100258
Question .
Type: Numeric Answer
et 314 ¥ A 9 14 A URT IRV UH IR 9047 P qG@ IR del. aNd gDy Mgt
uestion:
A-mZ2. [Given 7=3.14] 3ITg.
Topic: Physics-Section B
Item No: |59
Question
D: 100259
Question ,
Type: Numeric Answer
S URe¥l HegH M, @ M, Jredmeiel 1 8 X-Y Yool el 3. Z=0 9Y M, 1 3acHiD
J2 ST Z<0 A M, I AURASD /3 I,
Question:
= PN AN AS
M, e T b fBRUT P = 4437 — 33 — 5k - SUfAeA 3ME 9 A1 fI9eRT= Yaemrar Simard
ame. M, 98 Ml B g M, Fdie R S AW BIb ° 3R,
Topic: Physics-Section B
Item No: 60
Qgestion 100260
ID:
Question .
Type: Numeric Answer
Quest SR p-n AR 499 9ER 0.6 V 3RS TR 6X 1070 m €= SwieH &=mde faga
uestion:

&=Tdl il x10° N/C 3.




Topic:

Chemistry-Section A

Iltem No: 61
Questi
ID‘feS 'oN" 1100261
Questi
T;Ipees: on MCQ
Quest @rell feren YUSITSIa! SO S UMY STHH SRTgeIde U] ST fawiRe sred
uestion:
(3ffeRee) U] o178 ?
A: BCL, 3Mfor SF,
B: NO amfer H,SO,
c: SF, a1 H,S0,
D: BCl, 3f1fer NO
Topic: Chemistry-Section A
Iltem No: 62
Questi
ID‘feS 'oN" 1100262
Questi
T;Ipees: on MCQ
Ny(g) +3H,(g) = 2 NH;(g)
20g Sg
Question:
RN ffepad A YRS M1 TUR Seiedl NH, =01 Hiel a9l &1 3ghd
3TE.
A: H,, 1.42 H1A
B: H,, 0.71 #el
c: N,, 1.42 #Hrel
D: N,, 0.71 A
Topic: Chemistry-Section A
Iltem No: 63
Question 100263

ID:




Question
Type: MCQ
Quest 250 el & SRIUIRIT SgUrEI 5% (w/v) NaCl & 100 fedl Savr TR &el. Siearilel e
uestion:
T GGV <Thel MO aiTel BAfdel. & Qmaul 9 qUR FTel.
A EELS R I
B: TAIATHIT AT
: Al |l Ug U TR S
D: Jra&y frarer
Topic: Chemistry-Section A
Item No: 64
Question
D: 100264
Question
Type: McQ
Quest TR Na, Mg 37for Si Y oM e+ venfeq argens 496, 737 nfor 786 kJ mol ~1 s/éer Ok Al Y
uestion:
YoH AT AT (k] mol 1) ars.
A: 487
B: 768
C: BAL
D: 856
Topic: Chemistry-Section A
Iltem No: 65
Question ID: 100265

Question Type: | MCQ

Question: | TR WiSTHT & V&g HAMIS] IORArd 7
A rdifael aMfeed Hquur ugTard!

B: UIfEST SRIUTAT 4R ARIRET AR grgd Hguul
c: Tafife g wwud fHeurr @femrrd




D: gIgehTd AU 3MYeg YaDId HUNKITS!
Topic: Chemistry-Section A
Item No: 66
Question
D: 100266
Question
Type: MCQ
Question fSieh anfor TR Sl Sfehell AredRiiel AfAfhAd BRI a1, e’ gsdl 30T

uestion:

foresd .

A Zn(OH),
B: Zn0O
c: [Zn(OH) >~

. 2=
D: [Zn0O,]
Topic: Chemistry-Section A
Item No: 67
Question
D: 100267
Question
Type: MCQ
Question: | Giegl fAfA FRICe 9 AIfeTw F¥¢e WMol dMfdel Il 3ghH foresara.
A: LiNO, 3t NaNO,
B: LiO, 31 Na,O
c: Li,O 3t NaNO,
D: LiNO, 3l Na,O
Topic: Chemistry-Section A
Item No: 68
Question
D: 100268
Question
Type: MCQ




Question: | SCl,, O, CIF, 3107 SF, diean Hegad| 3] A9 fgey geidai g™ Hear 3o A

A: 0,1, 2 3mfor 2

B: 2,1,2 8o

C: 1,2, 2 a7fer 0

D: 2,1, 0 amfor 2
Topic: Chemistry-Section A
Iltem No: 69

Question ID: 100269

Question Type: | MCQ

Question: | Weilel HIq SRl SIS DIURIT SSI T e ?

A SC3+, Zn2+

B: T14 + , CII2 +
C: V2 + ) T13 +

D: Zﬂ2 + , MI‘lz +
Topic: Chemistry-Section A
Item No: 70

%fes“on 100270

Question
Type: MCQ

IR fhar feran siedherrss A1 KMnO,, Yais SifRIfSERS sifcde arirgathed HIIHS
Question: | goedl Sq@-odes AYUIUUl Hehery SAfRIfSHRr Brar. a1 fufepda daforear aifaRTs
Rerdid tehaRd gaa 3N, TThe.

O
W | o | =Gl




Topic:

Chemistry-Section A

Iltem No: 71
Question ID: 100271
Question Type: | MCQ

Question: WTATAUd! DIV STrel Had IRl Mg ?
A: esRA anfur Sraufes

B: Aifsas FARe 3T Sesi=

C: qifeas aRiNe onfT SRufesH

D: Aifegs TeirRe st Aifsas sRive

Topic: Chemistry-Section A

Item No: 72

Question ID: 100272

Question Type: | MCQ

Question:

WTATAUd! BT YT dReS AR 3 7

HyC
ik
N: CHy
H,c CH
“CH,

H,C

A




D:
Topic: Chemistry-Section A
Item No: 73
Question
D: 100273
Question
Type: MCQ
Question: | Wellcl HYITAT SiISA®] PHIVAT Srerd IASMICTAT $el Sl I e fHasdrd ?
CHj CHj
A:
—>
CH; CHj
CHj; CHj
B: @ —>
CH; CHj
CH; CHj;
CHj CHj
C:
—>




CH, CH;,
[:Ej [f:]

D:
Topic: Chemistry-Section A
Item No: 74
Question ID: | 100274
Question
Type: MCQ
AgCN NaCN
Y < & 2 Ry cl % oy
Queston: | (FE@3aR)  CH;OH-H0 GHsOH-H0O  (geg 3aim)
aRIe JAHfRIT FT ‘A’ G YT ‘B’ S 3MTed

: @ © @ ©
A //K\NEC,//\\NEC
> //KNCEN,//R\CEN

. ® O
C: 2N N=C e C=N

. ®@ ©
D: AN C=N, AN N=¢&
Topic: Chemistry-Section A
Item No: 75
Question ID: 100275
Question Type: | MCQ




OH

CHO

Br NH-OH P,O
S > = > B = » C
Question: A
CHO
IO IR IfAfhAdeT Sare ‘C 3e.
Br Br
A:
CN
OH
Br Br
B:
CHO
Br Br




OH
Br Br
D:
CN
Topic: Chemistry-Section A
Iltem No: 76
Question ID: | 100276
Questi
T;pees: ion MCQ
CHj
Cl
- NH3 BI'2
Question: A’ (CgHgC150) CgHgCINO NaOH
H,N
I HfpAT FGT ‘A’ T MM
)
A el
Cl CH3
O
Cl
B Cl
H,C




O
Cl
C:
€l
CHj
O
H
D:
Cl
CH,Cl
Topic: Chemistry-Section A
Item No: 77
Question ID: | 100277
Questi
T;Jpees: ion MCQ
+ —
N=NCI
| LA NaOH
Question: _ . )
(Hlii‘il = El'liﬁTﬁ'CF)
e AfAFFIT WeleTdah B HYT ‘A’ & AfAfhar HRE R ?
OH
A:




OH

B:

NH,
C:

NH,

D:
Topic: Chemistry-Section A
Item No: 78
Question ID: 100278
Question Type: | MCQ

Question:

Wreiid Affpar gl foamm =17

NH,

() AH(GBw, -
(i) HyO

CN

CH,;CHO

L.

dil NaOH, A

g1 42 ‘B’ & &I G

(F&d 31R)




A OHC4©7 N=CH-CHjy

B: HEN—Q CH=CH-CHO

c: HZN—Q—CHZ—N=CH—CH3
T

D: HZNO— C—N=CH CHO

Topic: Chemistry-Section A

Item No: 79

Question ID: 100279

Question Type: | MCQ

Question: | Teflelud! DIV YT & FMEHRI WL Sa=Ru e ?
A Hos™
B: rete
C: TETEH
> Srefret
Topic: Chemistry-Section A
ltem No: |80
QL.Jestion 100280
ID:
Question
Type: MCQ
HYT X & IAYGA AT AMMMOT & NaOH =1 60T faRered 0’g NaHCO, =1 gravT fieesd
Question: ) N ) ) )
el X & HYT S&IRT &7 FeCl, SRIER SiHal ¥ &d @ ‘X & §g7 3.




OH

A: @
OH
B:
CH,0OH
C: @
CH,0OH
D: @
Topic: Chemistry-Section B
Iltem No: 81
Question
D- 100281
Question

Type:

Numeric Answer




qrEhECrEl TCheRl® 129 m—1 8. & ©¢ 74.5 ppm Hadr=al KCl STaUM WAl e, T
¢ 100 Q 3M7E. (I SEUTAT .1 3R FaY) BE HS el 149 ppm KCl =T QAU HRA
SRACT T XY 50 () HA (IT FEUMAT 6. 2 A WelY). @O H. 1 g FEU P, 2 T Y0

Question:

?ﬁ?ﬁ%@ﬁﬁ?%=xx10‘3 e, T x o fhwa foeh ame.  (Sige=r quiter)

2

[ KCl 9 U] aRAM="74.5 g mol ~! 312 ]
Topic: Chemistry-Section B
Iltem No: 82
Question
D 100282
Question .
Type: Numeric Answer

T AT M1 SHRH B~ Il TS Broar 102 T 181 pm IGHA IAME. & AT Theld
Question: | WU B~ TS TG Fdhead wRUN THR e TOR B0, A+ § T AP 9 ATy

UIpedrd 2ATE. T AB OTeid Udhd Il HSendl pm 3ME. (Sace qorien)
Topic: Chemistry-Section B
Iltem No: 83
Question
D 100283
_(I?;Jpees:tion Numeric Answer

2a, AT USRI HATG goagieal dUie S e km s~1 8.
Question: (a,=Bohr /=41 52.9 pm)

(SeragiY aRgAT=9.1x10-31 kg, ©id ReRT®H h=6.63x1034 Js)
Topic: Chemistry-Section B
Iltem No: 84
Question
D 100284
Question

Type:

Numeric Answer




Siegr 600 fAfdr 0.2 M HNO, 3mfor 400 ffe 0.1 M NaOH U1 ded fiviesfdet s @1 deciler

Question: | STIUTR ATIHMRITSA TS x1072°C 3.
(SRR Trenfed =57 k] mol ~!, Umogr fafdrs Ssar=4.2 JK-! g=1)
Topic: Chemistry-Section B
Item No: 85
Question | 100285
Question ,
Type: Numeric Answer
SR 303 K @l O, I UK egsaredl THUM drex dreell a) O, 9 fadl fifer et vap ferex
Question: | TUaNT favE@didl.  (STdee li\chmq)
(O, |rdr 303 K o &~rar f+1g9 Reric =46.82 k bar 30T O, i1 <16 =0.920 bar)
Topic: Chemistry-Section B
Item No: 86
Qlfestion 100286
ID:
?ues.tion Numeric Answer
ype:
SR PbS @1 TEuiigdl JuHaed 8§x 1028 e a7 Yg U 298 K & Il Ui
Question: | xX10 " mol L=l ame. AT x A fbwa _ ame. (Saoadn QUiie)
[feer ame 2 = 1.41]
Topic: Chemistry-Section B
Item No: 87
Question
D: 100287
Question Numeric Answer

Type:




X Snfor Y Fregmiier fdfhar X =1 g Ufeedl PIERl 9 Y w1 g Y DIl A

[X] [Y] JEarirEr a3
mol L_I mol L_l mol L_l min_l
Question: I 0.1 0.1 2x103
I 1 0.2 4x103
111 0.4 0.4 mx1073
v n 0.2 2x10-3
Id m o fhaa 3. (STaeel quIteTd)
Topic: Chemistry-Section B
Item No: 88
Question
D: 100288
.IQ.ueS_tion Numeric Answer
ype:
Quest ATl IS IR daicdl T YR coierss 7Y sfiHrsfiedl |
uestion:
Ifor Uege §Y °r HeEm 3ATE.
Topic: Chemistry-Section B
Iltem No: 89
Question
D: 100289
?ues.tion Numeric Answer
ype:
UIIEA (propyne) =1 I Ufshad 1.0 g S GIOTSTHE Trben [Tl 1, 1, 2, 2-Cgsimm
27% SAEIAR fHesrerr. a1 AfHBIT 1, 1, 2, 2-CEEAEYUA x10~1 g fhesl.
Question: i
(STqas=T quiidTd)
(ST Xfved aRA =80 g/ mol)
Topic: Chemistry-Section B
Iltem No: 90
Question
D: 100290
Question Numeric Answer

Type:




Question:

[Fe(CN)J*~ & 3TR Sl S s/d TR, Sirean fafor Sroamrdr 6 Soil faRm = o I
Thed & Rerar St o (—) A, M. (Saeser quien)




